2 (200) K== X = S (230) R E XA S Mg (234) =2 EER-E))
i} =
O atod | JIHOAtY | HuE2 & &5 I =
st HlEt =2
200
JE=ESPAES 5,641,010 4,727,095 913,915
230
SEIMFS 5,470,000 4,565,000 905,000
234
IE2 5,117,000 4,207,000 910,000
401
A& H L2 5,117,000 4,207,000 910,000
4,819,792 3,909,792 910,000(401-01 (Al &H|)
[RERIA ]
AXEE AQFFH Gt HEHIALY 50,000,000& x 14 = 50,000
NEMNTZAl T30S SHEZHIHIAY 800,000,000 x 14l = 800,000
22 HUZAIRZ 223E2S 60,000,000& x 14 = 60,000
237
3017413 3,000 8,000 5,000
405
XHatE SHIS 3,000 8,000 5,000
3,000 8,000 A5,0001405-01 (Xt&bE SHI)
o SAD| PU(ZH) 3™ 0 - J|H 50008 = 5,000
290
JIEHR 2= & 6,475 0 6,475




:(200) KMHE XX & 8t (290) )| Bt X XI & Mgt (291) 8 REX38t

rio
M
4
£l
0

i =
Ofl abol | DI HOlAY | Hlus2 - N ES
st Higt =
291
HEgSX3ts 6,475 0 6,475
751
ohet= 6,475 0 6,475
6,475 0 6,475|751-01 (12X 3LHE3)
St4-22 FHIAIY SX2 Hel34e ote 6.475,000& x 14 = 6,475
800
I 164,535 162,095 2,440
800
0ll B H 164,535 162,095 2,440
801
IRl 164,535 162,095 2,440 = 0flHIH] AX 164,535 - J|H 162,058 = 2,440




